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Sample Paper – 2009
Class – X

Subject –[image: image5.png] MATHEMATICS

Time: 3 hrs                        Marks: 80

Section A                                        
 ( 7 x 2 = 14 marks )

1.Write the FUNDAMENTAL THEOREM OF ALGEBRA
2.    For which values of a and b does  linear equations have an  infinite number of  solutions?    2x + 3y = 7       , (a – b) x + (a + b) y = 3a + b – 2
3.  Given that f(x) = x3, - x2 - ax - b,  has a  factor x - 3 ,but leaves a remainder of    13x - 11 when divided by x + 4. Find   a  and  b..
4. The L.C.M. of two polynomials x³ – 12x² + 44x – 48  and    x²– 10x + 24 is        x³ – 12x² + 44x – 48 find the G.C.D.
5.   The sum of n terms of a sequence is 3n2 + 4n. Find the nth term and show that the sequence is an A.P.
6.    12 defective pens are accidentally mixed with 132 good ones. It is not possible to just look at a pen and tell whether or not it is defective. One pen is taken out at random from this lot. Determine the probability that the pen taken out is a good one.
7. In the given fig   if   ∟  ACE=43’     ∟ CAF=62’ Find value of a, b, c
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Section B

(12x 3=36 marks  )

8.   Check whether the pair of equations  x + 3y = 6 and 2x – 3y = 12 is consistent. If so, solve them graphically
9.    If 
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10.    Which term of the A.P   121,  117,  113……… is its first negative term?

11.   See figure alongside   Find ∟BCD and ∟ADB Hence show that AC = diameter

12. If the roots of the quadratic equation x² + px + q = 0 are  tan 30° and tan 15°,  respectively then FIND the value of 2 + q − p
13. Obtain the coordinates of  circum centre and  centroid G of the triangle formed by vertices (-2,3) ( 2,-1)  and ( 4,0) Assume that G divides each median in   2;1 ratio,

14. A circle with centre O,   dia = AB  and a chord AD is drawn.   Another  circle is drawn  with AO  as dia. Prove BD=2 OC
15. Four horses are tethered at 4 corners of a square field of side 70 metres  so that they just cannot reach one another. What is the area left ungrazed by the horses
16.       If a cos w- b sin w= c  then show that

a sin w +b cos w= √ (a²+b² –c² )
17.  There are 360 students in Class X at a Kendriya Vidyalaya and they travel to the Vidyalaya  by the following means: 130 students travel on foot 125 students travel by bus  70 students travel by cycle, 35 students travel by car.   Represent this information on a pie chart.

18.  Write down the equation of the line whose gradient is 3/2 and which passes through P, where P divides the line segment joining A (−2, 6) and B (3, −4) in the ratio 2 : 3.
19.   OP is a line segment . P being ( √3 ,1) It is rotated counter clockwise at 90’ to position OQ. Prove that abscissa of Q = -1
SECTION C

( 6 x 5=30 marks  )

20.   [a]Prove that the ratio of the areas of two similar triangles is equal to the ratio of  the

squares of their corresponding sides.

[ b ] If the diagonals of a quadrilateral divide each other proportionally. Prove that it is a trapezium
21.         [a]Using a ruler construct a trg with Bc=6.4 cmCA=5.8 and  L ABC=60’ Draw its incircle. Record the radius
[b] . Construct a triangle ABC  such that  AB =5cm  ∟ABC = 75 ‘ and radius of the circum-circle  of triangle is 3.5 cm .
22.  A Cone has base radius 5 m and height 12 m.  A smaller Cone  has base diameter 2 m and slant height 2.6 m   Find the ratio of the surface areas of the two cones
23.      If the angle of elevation of cloud from a point ‘n’ meters above a lake is α and the angle of depression of its reflection in the lake is (, prove that the height of the cloud is   n
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Verify the  identitiy [image: image4.png]—oscfx _sinx—1
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25.     a] A student has received scores of   88, 82, and 84 on mathematics , physical sc and life science .  If the tests count two more subjects , what is the lowest score the student  should  get on the next test to achieve an average score of at least 80 in all the 5 subjects ?
b] Find the mean of

Class interval  0-10  10-20  20-30  30-40  40-50

Frequency          10     6           8          12      5
More questions will follow You may send your queries  to    aloke60@yahoo.co.in
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